LESEUR,Alexys (1199) - ZELLER,Martin (1199) [B02]
N4 Jeunes (2.2), 02.12.2006

1.e4 Cf6 2.Cc3 Cc6 3.Cf3 dernier coup de la bibliothéque 3...e6 4.d3 d5 5.Fg5 dxe4
6.dxe4 h6 7.Ff4 g5 8.Fe3 e5 9.a3 Fg4 10.Cb5 [-0.16 Fritz 7: 10.Fb5 Dd6 11.h4 gxh4
12.Dxd6 Fxd6 13.Txh4 Fxf3 14.gxf3 Cg8 15.Cd5 0-0-0 16.Fxc6 0.72/9 ] 10...a6
11.Cc3 Cd4 12.h3 [-1.97 Fritz 7: 12.Fxd4 exd4 13.Dxd4 Fxf3 14.De5+ De7 15.Dxe7+
Fxe7 16.gxf3 Td8 17.e5 0.25/10 ] 12...Fxf3 [-0.34 Fritz 7: 12...Cxf3+ 13.gxf3 Dxd1+
14.Cxd1 Fxf3 15.Tg1 Fxe4 16.Fg2 0-0-0 17.Fxe4 Cxe4 18.f3 Cd6 19.b3 -1.97/11 ]
13.gxf3 Cb3 [3.10 Fritz 7: 13...Dd6 14.Fxd4 exd4 15.Ce2 0-0-0 16.Dd3 Db6 17.0-0-0
Fc5 18.b4 Fd6 19.Cxd4 -0.22/10 ] 14.cxb3 b5 15.a4 bxa4 16.bxa4 Tb8 [4.63 Fritz 7:
16...Db8 17.Dc2 c6 18.Td1 Fb4 19.Fc4 Tg8 20.Td2 Db7 3.53/10 ] 17.Fa7 [3.18 Fritz
7: 17.Dxd8+ Rxd8 18.0-0-0+ Re8 19.h4 gxh4 20.Fxa6 c6 21.Txh4 Cd7 22.Th5 f5
23.f4 Ta8 4.63/11 ] 17...Tb7 18.Fe3 [0.00 Fritz 7: 18.Dxd8+ Rxd8 19.0-0-0+ Cd7
20.Fe3 a5 21.Td5 c5 22.Fa6 Tb6 23.Thd1 Re8 4.10/11 ] 18...Txb2 [7.75 Fritz 7:
18...Tb8 0.00/13 ] 19.Dc1 [3.56 Fritz 7: 19.Dxd8+ Rxd8 20.0-0-0+ Fd6 21.Rxb2 a5
22.h4 gxh4 23.Txh4 Re7 24.Txh6 Txh6 25.Fxh6 c6 7.75/10 ] 19...Fa3 [7.25 Fritz 7:
19...Tb8 20.Fxa6 3.56/11 ] 20.Txa3 Tb8 21.Fxa6 Ch5 22.h4 gxh4 23.0-0 h3 24.f4
[5.28 Fritz 7: 24.Cd5 Cf4 25.Cxf4 exf4 26.Fxf4 Df6 27.Fb5+ Txb5 28.axb5 Dg6+
29.Fg3 8.10/9 ] 24...exf4 25.Fa7 [-#2 Fritz 7: 25.Fxf4 Cxf4 26.Dxf4 Dg5+ 27.Dg3
Dxg3+ 28.fxg3 Tbh2 29.Fb5+ Rf8 30.a5 Tg2+ 31.Rh1 Rg7 6.38/9 ] 25...Ta8 [7.44 Fritz
7: 25...Dg5+ 26.Rh2 Dg2# -#2/2 ] 26.Cb5 [1.40 Fritz 7: 26.Fb5+ c6 27.Fxc6+ Rf8
28.Fc5+ Rg8 29.Rh2 Tc8 30.Td1 Dg5 31.Tg1 Cg3 32.fxg3 Dxc5 7.44/10 ] 26...c6
[9.25 Fritz 7: 26...Dg5+ 1.40/10] 27.Dxc6+ Dd7 [20.75 Fritz 7: 27...Rf8 28.Rh2 Txa7
29.Cxa7 Cf6 30.a5 Tg8 31.Cc8 Cgd+ 32.Rxh3 Dg5 9.37/10 ] 28.Fb7 [9.43 Fritz 7:
28.Dxa8+ Re7 29.Fc5+ Rf6 30.Dxh8+ Rg6 31.Dg8+ Cg7 32.Rh2 Dg4 20.75/8 ]
28...Tg8+ 29.Rh1 Td8 30.Tc3 Re7 [#7 Fritz 7: 30...Dxc6 31.Fxc6+ Re7 32.Fc5+ Reb
33.Txh3 Cf6 34.Txh6 Tg6 35.Txg6 Th8+ 36.Rg2 fxg6 37.Ta1 8.96/10 ] 31.Cc7 [8.81
Fritz 7: 31.Fc5+ Dd6 32.Fxd6+ Rf6 33.Ff8+ Td6 34.Dxd6+ Rg5 35.De5+ Rh4
36.Txh3+ Rxh3 37.Dxh5# #7/7 ] 31...Cf6é [22.07 Fritz 7: 31...Dxc6 32.Txc6 Tg5
33.Fc5+ Txch 34.Txc5 Cf6 35.e5 Cg4 36.Cd5+ Reb6 37.Cxf4+ Rf5 8.81/10 ] 32.e5
[8.56 Fritz 7: 32.Fc5+ Dd6 33.Td3 Rf8 34.Fxd6+ Txd6 35.Dxd6+ Rg7 36.Tg1+ Rh7
37.Dxf6 Txg1+ 22.07/9 ] 32...Ch5 Diagramme

7 7
7 7 w7 7
3 By "

ST 7,
7

N W 01O N
N WA 01O N

% % % 7
) B &

a b c¢c d e f g h

—_
—_




Mat en 3 coups[#3 Fritz 7: 32...Dxc6+ 33.Txc6 Ce4 34.Txh6 Cc3 35.Tc1 Ce2
36.Tc2 Cg1 37.Cd5+ 8.56/10 ] 33.Tb1 [33.Fc5+ 33...Dxc6+ 10.28 33...Dd6 34.Fxd6+
Txd6 35.Dxd6#; 10.28 Fritz 7: 33.Fc5+ Dd6 34.Fxd6+ Txd6 35.Dxd6# #3/2 ] 33...Tg6
[20.88 Fritz 7: 33...Dxc6+ 34.Fxc6 Rf8 35.Fc5+ Rg7 36.Txh3 Tc8 37.Fb6 Txc7
38.Fxc7 Tc8 39.Tg1+ 10.28/10 ] 34.Rh2 [5.28 Fritz 7: 34.Fc5+ 20.88/9 ] 34...Txc6
35.Txc6 Tg8 [7.60 Fritz 7: 35...Rf8 36.e6 fxe6 37.Cxe6+ Rf7 38.Cxd8+ Dxd8 39.Fab
Cf6 40.Tb7+ Re8 41.Fc5 Cd7 42.Te6+ Rf7 5.28/11 ] 36.Tbb6 [-#2 Fritz 7: 36.Fc5+
Rd8 37.e6 fxe6 38.Cxe6+ Re8 39.Tc8+ Rf7 40.Tc7 Dxc7 41.Cxc7 Cf6 7.60/9 ]
36...Tg2+ Diagramme

D
«Q
=

ASUN

N
\\E
N -

N W OO N
\
x\\
8 D:{EE 3\\\\\\
-

\\ N
\ N
AN \
R
&

N\

>\§\
N

N

N
N

Y Y
_

N WA 01O N

\\

be-

N \
\

N\

7, 2 s

a b ¢ d e f

N\

«Q
o

Mat en 1 coup 37.Rh1 h2 [4.57 Fritz 7: 37...Dd1# -#1/2 ] 38.Rxg2 [0.00 Fritz 7:
38.Cd5+ Rf8 39.Tc8+ Dxc8 40.Fxc8 Txf2 4.57/8 ] 38...Dh3+ 39.Rxh3 h1D+ 40.Rg4
f6 [#11 Fritz 7: 40...Dd1+ 41.Rh4 Dh1+ 42.Rg4 0.00/10 ] 41.Te6+ Rd7 Diagramme
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Mat en 2 coups 42.Tbd6+ Rxc7 43.Tc6+ [0.28 Fritz 7: 43.Te7# #1/2 ] 43...Rxb7
44.Tab6 [-2.50 Fritz 7: 44.Fc5 Dg1+ 45.Rf3 Dd1+ 46.Re4 f5+ 47.Rxf5 Cg7+ 48.Rf6
Cxeb6 0.16/9 ] 44...f3 [2.66 Fritz 7: 44...f5+ 45.Rxf5 Cg7+ 46.Rg6 Cxe6 47.Txe6 Rxa7
48.Rf7 Dh5+ 49.Re7 Dh4+ 50.Rd7 Dg4 -2.50/10 ] 45.Te7+ [-3.07 Fritz 7: 45.Teb6+



2.66/11 ] 45...Rc8 [4.38 Fritz 7: 45...Rxa6 46.Fc5 f5+ 47.Rxf5 Db1+ 48.Rg4 Dg1+
49.Rxf3 Dd1+ 50.Re3 Db3+ 51.Rd4 Dxad+ 52.Re3 Rb5 -3.07/10 ] 46.Tb6 [0.40 Fritz
7: 46.Fe3 4.38/9 ] 46...Rd8 [2.88 Fritz 7: 46..Dg1+ 47.Rf5 Cg7+ 48.Rxf6 Ch5+
49.Rf7 Dg7+ 50.Re6 Dg6+ 0.40/10 ] 47.Th7 [-4.04 Fritz 7: 47.Tbb7 5+ 48.Rxf5
Dh3+ 49.Re4 Dh4+ 50.Rd5 Dxe7 51.Txe7 Rxe7 52.Fe3 Cg7 53.Fxh6 2.88/10 ]
47...Dg1+ [-0.56 Fritz 7: 47...Dg2+ 48.Rf5 Dg5+ 49.Re4 Dg6+ 50.Re3 Dxh7 51.Th8+
Rc7 52.Tb5 fxe5 53.Fb8+ Rc6 54.Fxe5 De7 —4.04/11 ] 48.Rf5 [-4.04 Fritz 7: 48.Rxf3
Dh1+ 49.Re3 Dc1+ 50.Rd3 Cf4+ 51.Re4 Del+ 52.Rf3 Dc3+ 53.Rxf4 Dxe5+ —0.56/11
] 48...Dxf2 [#1 Fritz 7: 48...Dg5+ 49.Re4 Dg6+ 50.Re3 Dxh7 51.Tb8+ Rc7 52.Tb5
fxe5 53.Fb8+ Rc6 54.Fxe5 De7 55.Rxf3 Da3+ —4.04/10 ] 49.Tb8# 1-0



